APJ ACADEMY KAYAMKULAM

SSC & BANK COACHING

Some Important Question for NTPC & SSC before Explanation of Paper code 3RPH

MCOQ OrSangam/ Deccans Era: Vakatakas, Chalukyas, Pallavas, Chera, Chola, Pandyas, Rashtrakuta:

1. Balaiyankutai in the pallava age was the name of
(a) A scholar (b) A Goddess (c) A pond or tank (d) A temple

Ans. (c) Balaiyankutai in the pallava age was the name of a pond or tank. Majority of the irrigation tanks were built
from the 6th to the 10th centuries of our era during the dynasty of the Pallavas. One will understand the importance
of these systems of irrigation by noting that about one-third of the surface area of the state is actually irrigated by
these omnipresent tanks (about 40,000 such tanks), the two-thirds of water needs come from the exploitation of
ground water.

2. Ladies had comparatively a greater participation in administration under
(a) Chalukyas (b) Cholas (c) Kalachuris (d) Pratiharas

Ans. (a) Women had comparatively a greater participation in administration under Chalukyas.Some women from the
royal family enjoyed political power in administration. Queen Vijayanka was a noted Sanskrit poetess, Kumkumadevi,
the younger sister of Vijayaditya (and queen of Alupa king Chitravahana) made several grants and had a Jain basadi
called Anesajjebasadi constructed at Puligere. 3. Who was the Chola king under

3. Who was the Chola king under whose reign Brihadishwar Temple of Tanjore was constructed?
(a) Rajendra | (b) Kulottevnga | (c) Rajaraja | (d) Rajadhiraj |

Ans. (a) Rajendra | was the Chola king and under his reign Brihadishwar temple of Tanjore was constructed. The
62NI RQa TFTANAID O2YLJ SGS ANIYAGS GSYLX ST GKS . NAKI R
during the Tamil Chola dynasty (ca. 3rd cen. BCE-1279 CE). This temple was originally built during the early 9th century
CE by Rajaraja Chola | and dedicated to Shiva.

4. Who among the following rulers had granted one lakh balotras from his own treasury for the restoration of a
mosque at Khambhat?

(a) Bhimal (b) Chamundaraya (c) Jayasimha siddharaja (d) Kumarapala

Ans. (c) Jayasimha Siddharaja had granted one lakh balotras from his own treasury for the restoration of a mosque of
Khambhat. Jayasimha Siddharaja was the greatest Chalukya king who, in commemoration of his victory against the
Paramaras, adopted the title ofAvantinatha. During the reign of Bhima Il (1178-1241), Muhammad Ghori made an
unsuccessful attempt to subjugate Gujarat in 1178AD.

pd 2K2 FY2y3d (GKS F2ftf26Ay3a KIR GKS GAGES W! Y23IKI G
(a) Munja paramara (b) Rajendra chola (c) Govinda chandra Gahadavala (d) None of these
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ofthe four great kings ofthe world. Sulaiman also wrote thatAmoghavarsha respected Muslims and that he allowed
the construction of mosquesin his cities. Because of his religious temperament, his interest in the arts and literature
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and his peace-loving nature, historian Panchamukhi has compared him to the emperor Ashoka and given him the
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6. The evidence of water-tax is provided by the inscriptions of
(a) Pratiharas (b) Gahadavala (c) Chalukyas (d) Rashtrakutas

Ans. (b) The evidence of water tax is provided by the inscriptions of Gahadavalas The Gahadavalas occupy a very
important place in Indian history. They ruled for over a century (ad 1089-1097), over a vast region of North India,
which extended from the western bank of Yamuna in the west to Patna, Monghyr and Bodhgaya in Bihar in the east.
It extended from the foothills of the Himalayas in the north to Baghelkhanda in Madhya Pradesh in the south.

7. Which among the following is not found inscribed on Chola coins?
(a) Fish (b) Bow (c) Tiger (d) Elephant

Ans. (d) Several coinsreleased by differentKings ofCholaswere found with the inscription of fish, tiger, bows but not
elephant. A picture of a seated tiger along with lamp-stand, a pair of fish and a bow was found on the coins
ofRajendra chola,similarly the picture ofseated king facing seated tiger were also found on the coins of Rajadhiraj I.

8. Who among the following rulers of the Chola dynasty carried out the first naval expedition against South-East Asia?
(a) Rajadhiraja (b) Rajaraja | (c) Rajendra I (d) Vira Rajendra

Ans. (c) Rajendra | of the chola dynasty carried out the first naval expedition against south-east Asia. He conquered up
G2 GKS olyla 2F DIFIy3aSa FyR |aadzYySR GKS GAGES 2F «
capital and named it Gangaikondacholapuram. The conquest of theAndaman and Nicober islands was his greatest
achievement.

P 2K2 FY2y3d (GKS F2ft2gAy 3 wk aK(iNI | dgrbha-Ry ISNEF (A &'
(a) Dantidurga (b) Dhruva (c) Govinda Il (d) Amoghavarsha

Ans. (a) Dantidurga, the Rashtrakuta rulers, is known to have made the Hiranyagarbha-RI y I Q G ! 221 ;
were subordinate to the Chalukyas. Dantidurga, a Rashtrakuta chief, threw his Chalukyan overlord and performed
hiranya-garbh a, a ritual that isthought to lead to the rebirth of the sacrificer as a kshatriya. Dantidurga, thus, founded
the Rashtrakuta empire.

Mn® 2K2 gl aNdzZz Ay3a GKS /K2t {1Ay3aIR2Y |G GKS GAYS 27
(a) Uttama Chola (b) Rajaraja | (c) Rajendra | (d) Kulotenga

lyad 6000 wla2SYRNI L gl & NM¥zAy3a GKS / K2fl ({Ay3IR2Y |
Chola | wasthe son of Rajaraja Chola I, the great Chola king of present day southern India. He succeeded his father in
1014 CE as the Chola emperor. During his reign, he extended the influences of the already vast Chola empire up to the
banks of the river Ganges in the north and across the ocean.

11. Gangai Kondacholapuram became the administrative centre of the cholas from the time of
(a) Parantaka (b) Rajendra | (c) Rajaraja | (d) Vikrama chola

Ans.(b0 WDF y3IF A Y2y RFEOK2fF LIz2NI YQ 06SOIYS (GKS FRYAYA&AGN
empire extended the whole of southern India to river Thungabathra in the north India, for administrative and
strategic purpose he built another capital and named Gangaikondacholapuram. The Gangaikondacholapuram temple,
he constructed, consists of 3 stories and surrounded by a huge fort like wall, the outer wall was greatly destructed
during the English rule (1896 AD).



12. The chola rulers were generally the worshippers of
(a) Shiva (b) Vishnu (c) Sakti (d) Kartikeya

Ans. (a) The Chola rulers were generally the worshippers of Shiva. A number of mythical heroes and demi-gods found
their place in the ancestry claimed by the later Cholas in the long mythical genealogies incorporated into the copper-
plate charters and stone inscription of the tenth and eleventh centuries. The earliest version of this is found in the
Anbil Plates which gives fifteen names beforeVijayalayaChola including the genuinely historical ones of Karikala,
Perunarikalli and Kocengannan.

13. The chola rulers were generally
(a) Saivites (b) Vaisnavites (c) Worshippers of Mother goddess (d) Worshippers of Kartikeya

Ans. (a) TheChola rulers were generally Saivites.Among the existing specimensinmuseums around the world and in the
temples of South India may be seen many fine figures of Shiva in variousforms,such as Vishnu and his consort
Lakshmi, and the Saivaite saints. Though conforming generally to the iconographic conventions established by long
tradition, the sculptors worked with greatfreedomin the 11th and the 12th centuries to achieve a classic grace and
grandeur. The best example of this can be seen in the form of Nataraja the Divine Dancer.

14. Which of the following temples does not belong to the Cholas?
(a) Brihadishwara (b) Koranganatha (c) Kalilashnatha (d) Airavateshwar

Ans. (c) Kailashnatha temples do not belong to the Cholas. King Rajasimha, of the Pallava dynasty, built this Shiva
temple in the early 8th century. Itis an early structural temple, built of sandstone, and partly renovated in recent
times. The modest scale of the temple, and the closeness of its enclosing wall, lend a feeling of intimacy to the
surroundings.Kailasanatha contains in embryo many of the features of the rapidly emerging South Indian style:
gopuras, pilastered walls, a pyramidal shikhara, and a perimeter wall enclosing the complex.

15. Which dynasty do the Arab writers refer to when they say that the women did not cover their faces with veil?
(a) Pala (b) Pratihara (c) Rashtrakutas (d) Cholas

Ans. (d) Chola dynasty is meant byArab writers when they say that the women did not cover their faces with veil. This
clan came to be known as the Rashtrakutas of Manyakheta, rising to power in South India in At the same time, the
Pala dynasty of Bengal and the Pratihara dynasty of Malwa were gaining force in eastern and northwestern India
respectively. An Arabic writing Silsilatuttavarikh (851) called the Rashtrakutas one of the four principal empires of the
world.

Explanation of Paper NTPC Code 3 RHM

ANSWERS
L(D): The Union Government has declared the December 3.(B): The Forbidden City is a palace complex in central
2015 Tamil Nadu flood as a Calamity of Severe Beijing, China. The former Chinese imperial palace
Nature. Central Government’s announcement came from the Ming dynasty to the end of the Qing
after Chief Minister J. Jayalalithaa had made a plea dynasty—the years 1420 to 1912, it now houses
to Prime Minister Narendra Modi seeking that the the Palace Museum. The Forbidden City served as
floods be declared as National Disaster. the home of emperors and their households as well

as the ceremonial and political center of Chinese

2.(A): Let the numbers be 2 Lx and 29x g i
government for almost 500 years.

HCF of above two numbers = x (given as 8)
- Number are 168 and 232 4.(C): The sum of the exterior angles of any polygon is
LCM of 168 and 232 = 4872, 360°.
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S5(A):

6.(D):
TAA):

8.(B):

9.(B):

10.(B):

If it is a regular polygon you can find the size of
an exterior angle by dividing 360° by the number
of sides.

If you know the size of the exterior angle, just do
the opposite divide 360° by the size of the exterior
angle to find the number of sides.

360
Exterior angle = —
n

) 360 360
Number of sides n= ———————— = —
exterior angle 60
= 6 sides.
LOW = 468
BOW = 768

SOWS = 3683

In above three O and W is repeated and in numbers
6 and 8 are repeated. So, there two coded by
6 and 8.

If O and W is coded by 6 and 8

then B=7,L=4andS=3

Thus, code is BOWLS must be contained numbers

7.6, 8. 4 and 3. And option A is the only which
contains these numbers, so BOWLS = 76843,

Neither I nor II follow.

In cell biology. mitosis is a part of the cell cycle
when replicated chromosomes are separated into
two new nuclei. In general, mitosis (division of
the nucleus) is preceded by the S stage of interphase
(during which the DNA is replicated) and is often
accompanied or followed by cytokinesis, which
divides the cytoplasm, organelles and cell
membrane into two new cells containing roughly
equal shares of these cellular components.

x+4=x-3
2xX-x=-3-4
X =-7.

The word STONE is framed by letters in the given
words. So, in order to find the code for STONE,
select the respective number codes.

SON TEN - Letters

678 948 - Codes
So, STONE —-» Letters
69784 —» answer codes.

! 2
r 5
P(l+—] = ll(Xl)(l+—]
100 100
21 21

A 247
1 P W L R
2020 2 2
121275
Hence, required maturity = ¥ 12127.5.

A

l

11(D): HCF = Product of two numbers _

42

LCM

For Qs. No. 12-14:

Vinod

\
- ,' Vishal

!

Vaioay
Vikis

12.(D): Vikas is second to the right of Vinod.
13.(C):
14.(A):
15.(D):

Vaibhav is immediate right of Vikas.

Vaibhav is third to the left of Varun.

29292 x (10000 - 1)

= 292920000 - 29292

= 292890708.

16.(D):
between volume and pressure of air.

17.(C): In a certain code

NOTEBOOK isoxled as
bbb b i d
REGOLEEN

and S H I RT iscoded as
Y P A )
XYZBG
Then, T O R N is coded as
) PR T
G E BR.
15 p
18.(A): = tan A = ?=~b-
h=225+68 = 289 =17
o BN
smn -h 17
L
aaaly s
T _p
and mnBzﬁ--;
h= J394576 = J625 = 25
. p_17
,smB:h~25
b 24
s B= == —
h 25

2646

63.

Pulley is not based on principle of relationship



cos (A-B)=cos A xcos B+ sinAxsinB
8 24 15 7

BTSN TAET:
192 105
1725 17x25

_ 1924105 297 297

T 17x25 17x25 425

.'.

19.(D): 4(x - 1) - 3x
=4x-4-3x
=x-4
2 1 1 1 1
204(C): 277 = = T e— e—-
(“7) L (27)-l3 e ‘3), 9
3)
21.(B): In a certain code
uver T 0 is coded as
P T U O
Similarly,
O, S [ is coded as.
ANT T
22.(A): v + and x sign interchanged as well as
3 and 2 are interchanged
4+2x3=14
=9 4x3+2=14
= 12+2=14

23.(D):

4.(A):

Hence, option (A) is correct.

A central processing unit (CPU) is the electronic
circuitry within a computer that carries out the
instructions of a computer program by performing
the basic arithmetic, logical, control and input/
output (1/0) operations specified by the instructions.

The computer industry has used the term “central
processing unit” at least since the early 1960s.
Traditionally, the tem “CPU” refers to a processor,
mote specifically to its processing unit and control
unit (CU), distinguishing these core elements of a
computer from external components such as main
memory and 1/O circuitry.

signs — and x and numbers 3 and 15 are
interchanged: then the value of

I3+ 12+6-4x15

=15+12+6x4-3

=15+2x4-3

=15+8-3

=23-3=20.

25.(0C):

26.(B):

27.(D):

28.(A):

29.0):

30.(D):

The correct inverted sequence (last to first) of
Mughal Emperors who ruled the Indian
Subcontinent is:

Emperors Period

Bahadur Shah I - 1837-1862
Aurangzeb - 1658-1707

Shah Jahan - 1627-1658

Akbar - 1556-1605.

For median first write in increasing order
LL L g 3
4422244

Here n =9 which is odd

n+l 9+1
Median = " th term = o th term

l
= 5th term = -7

Pritilata Waddedar (5 May 1911 - 23 September
1932) was a Bengali revolutionary nationalist. After
completing her education in Chittagong and Dhaka,
she attended Bethune College in Kolkata. Pritilata
graduated in philosophy with distinction. After a
brief stint as a school teacher, Pritilata joined a
revolutionary group headed by Surya Sen. She led
a team of fifteen revolutionaries in a 1932 attack
on the Pahartali European Club, which had a sign
board that read “Dogs and Indians not allowed™.
The revolutionaries torched the club and were later
caught by the British police. To avoid getting
arrested, Pritilata consumed cyanide and died.

A galvanometer is an electromechanical instrument
used for detecting and indicating electric current.
A galvanometer works as an actuator, by producing
a rotary deflection (of a “pointer”), in response to
electric current flowing through a cotl in a constant
magnetic field. Early galvanometers were not
calibrated, but their later developments were used as
measuring instruments, called ammeters, to measure
the current flowing through an electric circuit.

The polymer filter membrane method is based on
the principle of simple forward osmosis: Without
any input of energy, water molecules will naturally
move from fresh solutions to saltier ones. The
researchers developed a specially formulated
solution that is saltier than seawater, drawing water
molecules out of seawater across a porous
membrane and leaving the sea salt residue behind.
The resulting solution contains a mix of salt
compounds that vapourize at much lower
temperatures than seawater salts.

As Birds lives in the Nest likewise Lion lives in
the Den.



3L(C):

32.(C)

33.(B):

(A

I5(A):

36.(B):

+ denotes —

- denotes +

+ denotes x

X denotes +
I2+91x7+3-1
=182-91+7x3+1

=182 -13x3+1
=182 -39+ 1
=183 -39 = 144,

Let they got T 2x, T 3x, T Sx and T 6

2x + 3x + Sx + 6x = 288

= 16y =288 = x = 18

;i A=2x18=X36
Ix=3x18=54
Sx=5x18=%9
6x =6 x 18 =T 108.

Required gain%
2 2
_ (“"’_*'] x100-100 = ("1] % 100~ 100
100 . 100.
2 2l
= ALl x100-100 = l0-m-IOO
100 x 100 0
= 102.01 - 100 = 2.01%.
5 1
w=-2x=3,y=0,2= -3

207 447+ ) = 227 +0F + 07

=24+9+0)
= 2(13) = 26.

Power generation or electricity generation is the
process of generating electric power from sources
of primary energy. For electric utilities in the
electric power industry, it is the first stage in the
delivery of electricity to end users, the other stages
being transmission, distribution, energy storage and
recovery, using pumped-storage methods. It is not
an application of fiber optics.

Kaveri, also referred as Ponni, is an Indian river
flowing through the states of Karnataka and Tamil
Nadu. It is the third largest after Godavari and
Krishna in south India and the largest in Tamil
Nadu which on its course, bisects the state into
North and South. Originating in the foothills of
Western Ghats at Talakaveri, Kodagu in Karnataka
it flows generally south and east through Karnataka
and Tamil Nadu and across the southern Deccan
plateau through the southeastern lowlands,
emptying into the Bay of Bengal through two
principal mouths in Poompuhar, Tamil Nadu.

3(A):

38.(A):

39.(D):

40.(C):

41.(B):

42.(C):

The Godavariis India’s second longest river after
the Ganga. Its source is in Triambakeshwar,
Maharashtra. It flows east for 1,463 kilometres (910
mi) draining the states of Maharashtra (48.6%),
Telangana (18.8%), Andhra Pradesh (4.5%),
Chhattisgarh (10.9%), Madhya Pradesh (10.0%),
Odisha (5.7%), Karnataka (1.4%) and Puducherry
(Yanam) and emptying into Bay of Bengal through
its extensive network of tributaries. Measuring up
to 312,812 km~ (120,777 sq mi), it forms one of
the largest river basins in the Indian subcontinent,
with only the Ganges and Indus rivers having a
larger drainage basin.

Thomas Jeffrey Hanks (born July 9. 1956) is an
American actor and filmmaker. Hanks is known
for his comedic and dramatic roles in such films as
Splash (1984), Big (1988), Tumer & Hooch (1989),
A League of Their Own (1992), et al. He has also
starred in the Robert Langdon film series, and
voices Sheriff Woody in the Toy Story film series.

Mercury is the smallest and innermost planet in
the Solar System. Its orbital period around the Sun
of 87.97 days is the shortest of all the planets in
the Solar System. It is named after the Roman
deity Mercury, the messenger of the gods. Like
Venus, Mercury orbits the Sun within Earth’s orbit
as an inferior planet, and never exceeds 28" away
from the Sun.

Apollo 11 was the spaceflight that landed the first
two humans on the Moon. Mission commander
Neil Armstrong and pilot Buzz Aldrin, both
American, landed the lunar module Eagle on July
20, 1969, at 20:18 UTC. Armstrong became the
first to step onto the lunar surface six hours after
landing on July 21 at 02:56:15 UTC; Aldrin joined
him about 20 minutes later. They spent about two
and quarter hours together outside the spacecraft,
and collected 47.5 pounds (21.5 kg) of lunar
material to bring back to Earth. Michael Collins
piloted the command module Columbia alone in
lunar orbit while they were on the Moon’s surface.
Armstrong and Aldrin spent just under a day on
the lunar surface before rejoining Columbia in lunar
orbit,

The order of rotational symmetry of a parallelogram
is 2.

Counting the number of tree rings is used to know
the age of a tree in years.

Lambasingi (or Lammasingi) is a small village in
the Chintapalli Mandal of Visakhapatmam district
of Andhra Pradesh, India. It is situated in the agency
area. This place is often referred as Kashmir of
Andhra Pradesh. The temperatures in this places



43.(A):

H.(B):

45.(C):

46.(B):

47.(B):

48.(D):

49.(B):

20 as low as -2 °C in December - January). This
village is situated at a height of above 1000 meters
from the sea level. Many fruits like apple grow in
this area due to its cold climate.

‘duhelhesaord’
Body part : Shoulder, Head
i.e., correct option is SH.

1848 + 231 - 10
=8-10=-2

The Pashupatinath Temple is a famous and sacred
Hindu temple complex that is located on the banks
of the Bagmati River, approximately 5 kilometres
north-east of Kathmandu in the eastern part of
Kathmandu Valley, the capital of Nepal. The temple
serves as the seat of Nepal's national deity, Lord
Pashupatinath. This temple complex was inscribed
on the UNESCO World Heritage Sites’s list in
1979.

The trophic level of an organism is the position it
occupies in a food chain. The word trophic derives
from the Greek Tpogpn) (trophe) referring to food
or nourishment. A food chain represents a
succession of organisms that eat another organism
and are, in turn, eaten themselves. The number of
steps an organism is from the start of the chain is
a measure of its trophic level. Food chains start at
trophic level 1 with primary producers such as
plants, move to herbivores at level 2. predators at
level 3 and typically finish with carnivores or apex
predators at level 4 or 5. The path along the chain
can form either a one-way flow or a food “web”.

3410+ 10+4+ 7+ 1045

Mean

2+4+2-3x5=29
= 42+4-2-3x5=2

= 46-2-15=29
= 46-17=29
= 29=29

Hence, correct option is (D).

In golf, a caddie (or caddy) is the person who
carries a player’s bag and clubs, and gives insightful
advice and moral support. A good caddie is aware
of the challenges and obstacles of the golf course
being played, along with the best strategy in playing
it. This includes knowing overall yardage, pin
placements and club selection. A caddie is not
usually an employee of a private club or resort.
They are classified as an “independent contractor,”

50.(B):
S5L(D):

52.(B):

53.(A):

54.(B):

55.(B):

56.(A):

meaning that he or she is basically self-employed
and does not receive any benefits or perks from
his association with the club.

Anil is related to Chetna as her Maternal Uncle.

The Government of India in the Month of
November, 2015 decided to allow foreign portfolio
investors ( FPIs) to increase stakes in local defence
units to 49%. The earlier permissible rate was 24%.

Total number of executives recruited in the year
2012
= 480 + 495 + 464 + 508 + 488 + 518
= 2953
Required average
_ 502+500 +508 + 444 +512 + 499
6

296,
= — = 494166 = 49%4.

Number of Executive recruited by organization T
in the year 2014 = 510

Number of Executive recruited by all the
organizations in the year 2014 = 2854

x 100 = 18%.

510
Required% =
- 2854

Colostrum is a form of milk produced by the
mammary glands of mammals (including many
humans) during pregnancy. Most species will
generate colostrums just prior to giving birth,
Colostrums contain antibodies to protect the
newborn against disease. In general, protein
concentration in colostrums is substantially higher
than in milk.

Time taken walking both sides
= 5 hours 55 minute

= 5% -5-5- hours
60

11 71
= § X == = hOUI'S
12 12

Time taken in one side
71 71
=—hours
12x2 24

Time taken for riding one side

19 71

- T—-zz- —
Time taken for riding both sides
43x2 43 7
= =— hours = 3 %= hours
24 12 12
= 3 hours 35 minutes.

114-71 43
=— hours
24 24

&




57.(B):

58.(C):

59.(B):

60.(C):

61.(D):

62.(A):

63.(D):

64.(B):

Minimum Qualification is Class 5.

= (.50

2
» 3 e in ascending order.

Incredible India is the name of an international
tourism campaign by the Government of India to
promote tourism in India since 2002 to an audience
of global appeal. Incredible India title was officially
branded and promoted by Amitabh Kant, the then
Joint Secretary under the Union Ministry of
Tourism, in 2002. Bollywood superstar Amitabh
Bachchan and beauty queen Priyanka Chopra were
chosen in January 2016 to be the new brand
ambassadors of the Centre’s Incredible India
campaign.

(15872]
2 ) 158m
4  32x4
- ﬂ = %: 124,
4x4 16

Diamond is a solid form of carbon with a diamond
cubic crystal structure. At room temperature and
pressure it is metastable and graphite is the stable
form, but diamond almost never converts to graphite.
Diamond is renowned for its superlative physical
qualities, most of which originate from the strong
covalent bonding between its atoms. In particular,
it has the highest hardness and thermal conductivity
of any bulk material. A piece of diamond shines
because its refractive index is very high.

A functional toilet at home was hailed as an
important criteria for contesting Panchayat elections
in Haryana in December 2015.

Erratic monsoon is irregular monsoon which cannot
be relied upon.

Ratio of efficiency of Karteek and Raju =2 : |
Then, ratio of their time taking = 1: 2
Karteek takes x days

Then, Raju takes 2v days

65.(B):

66.(B):

67.(A):

68.(A):
69.(A):

70.(C):

7L(C):

|
(Karteek + Raju)’s 1 day work = %

l+l |
= —t— =
voo2x 20
2+1 l
= T T
= xr=30

Karteek can do alone in 30 days.
Hence, Raju can do alone in 2 x 30 = 60 days.

Both Assertion and Reason are true and Reason is
the correct explanation of Assertion.

Variance = Square of Standard deviation
= 169 = o

= c=13

Hence, Standard deviation = 13.

Hydrochloric acid is a corrosive, strong mineral
acid with many industrial uses. A colourless, highly
pungent solution of hydrogen chloride (HCI) in
water, when it reacts with an organic base it forms
a hydrochloride salt. Hydrochloric acid was
discovered by the alchemist Jabir ibn Hayyan
around the year 80 AD. Parietal cells secrete HCI
at a concentration of roughly 160 mM (equivalent
to a pH of 0.8). The acid is secreted into large
cannaliculi, deep invaginations of the plasma
membrane which are continuous with the lumen
of the stomach.

Smita is related to Aryan as her Mother.

Let S.P. of one = x
then, S.P.of 2nd = x + 3
According to the question

x+3 10251

- Required ratio = 51 : 58.

The uterus (from Latin “uterus”, plural uteri) or
womb is a major female hormone-responsive
secondary sex organ of the reproductive system in
humans and most other mammals. In the human,
the lower end of the uterus, the cervix, opens into
the vagina, while the upper end, the fundus, is
connected to the fallopian tubes.

DNA fingerprinting, also called DNA typing, DNA
profiling, genetic finger-printing, genotyping, or
identity testing, in genetics, is a method of isolating
and identifying variable elements within the base-
pair sequence of DNA (deoxyri-bonucleic acid).
The technique was developed in 1984 by British
geneticist Alec Jeffreys, after he noticed that certain



72(D):

73.(C):

T4.(A):

75.(C):

76.(B):

77.(B):

sequences of highly variable DNA (known as
minisatellites). which do not contribute to the
functions of genes, are repeated within genes. DNA
profiling has helped to acquit or convict suspects
in many of the most violent crimes, including rape
and murder.

A greenhouse gas is a gas in an atmosphere that
absorbs and emits radiant energy within the themmal
infrared range. This process is the fundamental
cause of the greenhouse effect. The primary
greenhouse gases in Earth’s atmosphere are water
vapour, carbon dioxide, methane, nitrous oxide,
and ozone. Phosphine is not a greenhouse gas.

Z o A
25 18 9
= 9x = 250
2
> x=ayl
9 9
. 7 7
Difference = 27—-25 = 2= km/hr.
9 9
Damascus is the capital and likely the largest city

of Syria, following the decline in population of
Aleppo due to the battle for the city. Itis commonly
known in Syria as ash-Sham and nicknamed as the
City of Jasmine.

In addition to being one of the oldest continuously
inhabited cities in the world, Damascus is a major
cultural centre of the Levant and the Arab world.
The city has an estimated population of 1,711,000
as of 2000,

Newton’s third law of motion is, “Every action
has equal and opposite reaction™.

The Santosh Trophy is an association football
knock-out competition contested by the regional
state associations and govemment institutions under
the All India Football Federation (AIFF), the sport’s
governing body in India. Before the start of the
first national club league, the National Football
League, in 1996, the Santosh Trophy was
considered the top domestic championship in India.
Many players who have represented India
internationally played and gained notoriety while
playing in the Santosh Trophy. The tournament is
held every year with 31 teams who are divided
into groups and who must qualify for the
tournament proper through the preliminary round.

GSAT-8 is communication satellite. It was
constructed by the Indian Space Research
Organisation, as part of INSAT system. GSAT-8
was launched on May 21, 2011 from Kourou,
French Guiana. The rocket, an Ariane 5 was the

T8.(A):

79.(C):

80.(B):

8L(A):
82.(B):
83.(C):

84.(D):

85.(A):

carrier, marketed by the European Arianespace.
First satellite to carry GAGAN payload followed
up by GSAT-10 and in-orbit spare GSAT-I15.

Both Assertion and Reason are true and Reason is
the correct explanation of Assertion.

Quran is the holy book of Muslims.

Guru Granth Sahib is the holy book of Sikhs.
Upanishad is the holy book of Hindus.

Bible is the holy book of Christian.

The Dhyan Chand Award, officially known as
Dhyan Chand Award for Lifetime Achievement in
Sports and Games, is the lifetime achievement
sporting honour of the Republic of India. The award
is named after Dhyan Chand (1905-79), an Indian
field hockey player who scored more than 1000
goals during a career which spanned over 20 years
from 1926 to 1948. It is awarded annually by the
Ministry of Youth Affairs and Sports. Recipients
are selected by a committee constituted by the
Ministry and are honoured for their contributions
to sport both during their active sporting career
and after retirement. As of 2016, the award
comprises a statuette, a certificate, ceremonial dress,
and a cash prize of ¥ 5 lakh (US$7,700). The cash
prize was revised from ¥ 3 lakh (USS4,600) to
T 5 lakh (USS7.700) in 2009. Sachin Tendulkar
was not awarded this.

The ratio of percentage is 5: 7.
46 students passed in only one subject.

The percentage of students passed in all subjects
is 7.

10 -15=85

When SP ¥ 85 then CP = T 100

100
When SP ¥ 5100 then CP = -Ex 5100

CP = 6000
Now, 100+ 15=115
When CP T 100 then SP T 115
When CP T 6000 then SP

- E * 6000 = 6900
100

Hence, SP. =T 6900.

6 cm

5 em

Length of diagonal = ,f(s)z +(6)
= 25+ 36 =61 cm.



86.(A): Poonam related to Virat is Wife.

87.(A): Inertia is the resistance of any physical object to
any change in its state of motion. This includes
changes to the object’s speed. direction, or state of
1est.

88.(A): Both Assertion and Reason are true and Reason is
the correct explanation of Assertion.

89.(A): 0.12636

_ 12636126 12510

9000 99000
_ 1251 139
T 9900 1100

90.(D): Chandra Shekhar Azad (23 July 1906 - 27 February
1931), popularly known as Azad (“The Free™), was
an Indian revolutionary who reorganised the
Hindustan Republican Association under its new
name of Hindustan Socialist Republican Army
(HSRA) after the death of its founder. Ram Prasad
Bismil, and three other prominent party leaders,
Roshan Singh, Rajendra Nath Lahin and Ashfaqulla
Khan. Azad died at Alfred Park in Allahabad on
27 February 1931. The police surrounded him in
the park after an unknown informant told them he
was there. He was wounded in the process of
defending himself and Sukhdev Raj (not to be
confused with Sukhdev Thapar) and killed three
policemen and wounded some others. His actions
made it possible for Sukhdev Raj to escape. After
a long shootout. holding true to his pledge to never
be captured alive, he shot himself dead with his
last bullet. The Colt pistol of Chandra Shekhar
Azad is displayed at the Allahabad Museum.

9L(D): Time taken the both holes together in
I minute work

1 1 543 8
15 15

+
35
- Time taken to empty the tank

_1_5_: 11 minute.
8 8

92.(C): Neither I nor 11 follows.
93.(A): Cost of 340 seconds = T 8

8
08 260 sec = —x 260
Cost of 260) seconds 330

104
T
2
= =
17
=6117 =% 6.1.
. 4 p
94.(D): sin x = ;—‘;,-
. b = (58 - 4y
- b'=25-16=9
b=3
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95.(D): Anglo-Bangla war was not fought between British
and Indians.

96.(D): A modem (modulator-demodulator) is a network
hardware device and not a storage device that
modulates one or more carrier wave signals to
encode digital information for transmission and
demodulates signals to decode the transmitted
information. The goal is to produce a signal that
can be transmitted easily and decoded to reproduce
the original digital data. Modems can be used with
any means of transmitting analog signals, from
light-emitting diodes to radio.

97.(C): Pigeon is the symbol of Peace while White Flag is
the symbol of Surrender.

pxrxt
100

98.(C): Sl:=

WOx6x4

100
Amount = P + S.L

=900 + 216 =X 1116.

99.(C): Hill is related to Mountain in the same way as
Stream is related to River.

T216

100.(C): Bacteria causes for illness in the Same way Knife
is causes Laceration.



